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Realizing Effects of Decisions Quiz
1. Choosing not to decide is also a decision. This is called: 
a. Post hoc
b. Decision by indecision
c. Anti-choice
d. Ad hominem

2. Which of the following statements are true about intended and unintended consequences? (Choose all that apply) 
a. Intended consequences are the desired results of one’s actions.
b. Negative unintended consequences are sometimes called serendipity.
c. Unintended consequences can be either positive or negative.
d. The chance for negative consequences increases when the reality that something could go wrong is ignored.

3. The Creative Problem-Solving Module helps achieve more unintended consequences and reduce negative intended consequences. 
a. True
b. False

4. To make good decisions, the decision maker must first have a clear:
a. Goal
b. Consciousness
c. Timeline 
d. Plan

5. Many problems or events do not have a single goal but rather multiple ones. Even though all goals seem important, there is always a hierarchy.
a. True
b. False

6. The consequences of a decision will always be recognized immediately.
a. True
b. False

7. Summative assessments and formative assessments differ in that:
a. Formative assessments occur at the end of a plan of action.
b. Formative assessments ask questions such as “Where did the plan go wrong?” and “What results were surprising and/or positive?”
c. Monitoring the plan while it is going on and evaluating it against the goal is an aspect of formative assessments. 
d. None of the above

8. All experiences, even failed ones, can aid the decision maker in making future decisions.
a. True
b. False

9. Another term for autopsy is “pre-mortem”.
a. True
b. False

10. Some elements of unintended consequences are within the control of decision makers and have three causes: 
a. Obstacles, judgement, and rules.
b. Laws, lobbyists, and the government.
c. Barriers, hazards, and risks.
d. Ignorance, error, and immediacy of interest.

11. Despite warnings from engineers, directors at NASA decided to proceed with the launching of the Challenger space shuttle because:
a. They promised Congress they would launch a specific number of space shuttles during a certain time period, and not launching the Challenger would cause them to miss that quota.
b. The engineers had raised false alarms before, and the directors believed they were overreacting and that there was nothing wrong with the shuttle.
c. The morning of launch was warmer than previous Challenger launches, which other engineers believed would compensate for the O-rings’ normal rigidity.
d. The engineers’ concerns about the damaged insulation were unintentionally downplayed as the message was relayed to the higher-ups.

12. Immediacy of interest can be avoided by… 
a. Listening to popular opinion.
b. Gathering information as fast as possible.
c. Surrounding yourself with people who will tell you what you want to hear.
d. Setting expectations for results in an honest and ethical manner.

13. Rationalization is when we:
a. Understand a decision using context clues.
b. Try to justify a decision with logical, plausible reasons, even if those reasons are not true.
c. Say that a compromise is the best decision in order to appease two opposing points of view.
d. Rely on ambiguity to defend an argument or decision.

14. Retrospective rationalization happens before a decision is made.
a. True
b. False

15. While making decisions based on emotion and ego is easy and often times works, the unintended consequences they cause can be permanent and very negative.
a. True
b. False
